Monday, October 282019

i St

134. bx* - Sx ¢ 5‘ La

3.3, Dt Z%PMQK.‘.,MQ, Remaindan and Fochn

TB\ROJ\M

Ob A. D;v;n‘c. PoQano mn-Qﬁ UAmz &an-dd\.c D.Vmw
Nota: .a -‘ﬂ\ﬂ-\'\f- G\;Vl..h;ovl v wsﬂ) "b A.',v;:le o roQamnm.Q

%X—C On X + C

E;a_. UM. han'l’p\cl\t A;vfn'wn‘\'o tL-VJQ.

=3

x-3

Di,virjan

i 4 -5 5

D.'.v\'non-

24 4%

| uul' oddf
" \ A iléi/l—é]—' Ramainden

Co Wh a&, 1uo‘|'\’¢'\+

li:.z-l- Fx + 1€

nx
i wulz

E— auo\\'ﬂ-ni'

va..Q* o£ '&;a Amvum Qun‘\u* = X +11+ 16

Reweunden = 53 .

How to wnite fe newlt:

<xz+)x+!.6>'

D +E

= ‘X.;-l'lnr.z -S5% ¢+ 6§

Qo Henk

s D(,v o <+ RLv-a.me = D\..Va:tx!w.J

~ wad - D{vthnJ

X - 3

Diu VONR

2
3
M;Sﬁﬂ - x*+Fxa L6

Quehent

3.3 Paoge 1




3.3 Page 2



2222222222222222222222222

—E__a- Hm. h‘a«%\\k Apvd)uv\ "'D ALVI.AO.

2 e -6 by x42 |Nok: x tomn
3 mmuz)r.*ﬁm
1L 0 -3 -¢ coaff .

/ 1
@ — Rcmu;h‘l an

auokm‘}: LXz —2x -3
(¢ -2 -+ 2)+ (0= [x*-3=-¢)
Quotiand - Do non +R¢~m.5~\Ju-\ = D;.:&M
—'(11‘21’3>(1+?-> = x}-Fx-6

TP e polporcicll 2(x) n dividad by - e, Ao
+0a Remeinden s o 4o (o).

y 10a rQaMMQ {(u) v divided \a xtc, e
the Rumcinden 4 equald b L(-¢).

_E_g-, \NQ‘J\ we ChviAt 13""(:3-5!'\'5' \73 wx-3 , We

3.3 Page 3




Monday, Octobe

Tl Ramaindin Yhaorem ansotn thad f we. play 3

ko 3&3+'-|i-51+15',’09-d;,., ~£w.wQu.Qd1
20

23, we ol g 53,

Lt 'n ok £(5) = (23) + 4BV -5(3) +5

- 27 + 36 -415 4§

= 53%.

O‘o¢3 The Fachn Thheoraw .

La." g(x) \x a waaMm.'«Q.

@I £(D =0, tan x-c o fuhn of
;?(0.
® D x-c o a fdnof L6, 4han £(D=0

E-_z. CDMvAU\ '&c OlfaJ\m /v &(")

2x* -3 —UUx 4 6\=0
G\m’&d’ x =3 '\AanoQA\'on. Fma-&ﬂ.

GOQ: X=3wu AMQA‘\M muwvs'u\td &(3) =0

3.3 Page 4




Th %.J’Dn H.coram Mﬁ,"cami’ %= 3 must be o
lgavl‘n e& ,g(,‘) PR T 42(-0=(1-3)-(5miw\;a)
awn, "1 42\4-‘! Ha Nma.wwna MZ.A-L\M) )wc_ém‘\'

Nn.zl i A;via\z £(x) ‘-a (3—3) (mw\a Aan'ud‘l‘fc
A).thLou) . T»Qvl c{\u'htvd' wﬂ ML-&W.

'N-mwa &-u‘wn Cet a\mul'ie,n)" O wd /soQue

we %Lve un the MMM'W“Z MQ-AM
s 22 —3x%2 A4y 46 ch)zLa x - 3,

2 -2 -14 6
3 & 9 -6

2 3 -2 6

am?'\\ud 27(2-\31—2.
Yo 2‘.4! MMLum«a Zpron .
Sd' 212*31"2 =0
@x —L)Q + 2> e, ( Fuchn)
2)1-1. =0 ’ 1+2 =0

x = L , x= =2,

pA
Soludhon nek - li%, %)-Zﬁ.\

3.3 Page 5



Monday, October 28, 2019 1:31 PM

E.’%_, G.‘Vc,n '&aj x==-14 wna MQ.J\M"‘D
15,32 + 44t -3x-2:-0.
Fw\ll 'UM! wa MQMJ\OM
Chapd: Ve myctheic divinion 4o find the

;u..a;.\;.a 1@.&0:\;
15 14 -3 -2
-1 -5 1 2

Quoked =152 = x = 2 |*— Remainn
. e
S'l':tl: SeXx mwa «gm.)'en =0
15x2-x—2 =0
(s« —2)3x + 1) =0

5x =2 =0 -, 2x +1+ =0
S% .'.2 3’(:‘1
X =2 x = =L
S 3

3.3 Page 6



